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Writing Project #1 is due Friday!
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11. (5 pts) Find :-;in[ %] rua{ %] and Lan( %] , given that UUS[H}—% and JTT su<lr.
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12. Consider the equation 2sin”(x)-1=0.
a. (5 pts) Find all solutions x, in radians and degrees, to the equation in the interval [I'LLT}.

b. (5 pts) Find all real solutions x, in radians and degrees.
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13. (5 pts) Re-wnite sin[ws '[E]] as an algebraic expression.
X
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i
14. Find the exact value of sin| S?ﬂ'] in two ways: (Hint: If degrees are easier for you, use degrees.)

a. (5 pts) Use a Sum identity.
b. (5 pts) Use a Half-Angle identity
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15. (5 pts) Re-write cas{arcs[n(r}+ar¢cas(r}] as an algebraic expression. (Hint: Use Sum identity.)

Sue 3/d notes Gude
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16. (5 pts) Find sin(2u).cos(2u) and tan(2u), given that sin(u) =; and cosfu)< 0.
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17. (5 pts) Find the arc length on a circle of radius r = 8 that is intercepted by an angle of 1356".

100

Area= =

Arc .L~¢"j-h‘1 s-:(e



240306-notes.notebook March 06, 2024

3.1 Law of Sines
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31

Use the Law of Sines to solve the triangle. Round your answers to two decimal places.
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3.1

Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal
places. (If a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.)

A = 140°, a = 105, b = 230

A is obtuse.
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Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decima
places. (If a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.)

A=72° a=11, b=13
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3.1
Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal
places. (If a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.) 8.

A=51° a=95, b=11.4

h = g0 A—
u."‘ \‘l‘ as” =
795 = n h= <o.(s°) % 8.859463961 € 2 =9.5,
3
<o b>a>h =~
se B sh ") A SoLLTIoONS )
— - ———
.4 95
wHsS 6 o 6 9395751537 é: <o (0.9325751537)
s B= = v ancs

[»]
~ 68.83986003 *|e8.8Y &

O ~
(= 0’ <"~ B #60.16013997° M

“Than do .
J a'Sk-(CX v y\-\o\ c.

U\L N LV ol HJ-C JO"«-Q /
B jd W Kas O s obhee
W ! A )

Neow w-€ co '%'{ B 3 obher

s ()% 0.9325751537
(2.0 =C4q0°")
‘ =. 931575 (S 3+

\1
4
a3
B _
|
Q- 180 5°—13

el s 1agMso’ 9160139975 2 B Lor B obhse .

~

P o
B-; 180 — 60.16013997

C

o
24 119.83986 < 8
for B abtuse cago

13



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13

